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1.

ITHT I A 1o TwsART ATt 3T
e I} | Fw @wg @ 98 a3
et & 3 R amdt 3 g 2 | fH R
3 Tt 3R S 2 3 F g F TR
R A 37T T R g oA 2 | 3T 8
g feen o amt w1 @k ?

(A) ™

(B) dfzm
(C) =fem

(D) I

afe et fafeea #is ¥ CHILDREN Eq|
BGHKESFO foran S 2, 31 3t wig

GEOMETRY 1 Ha fogn Sm@m 7
(A) EDNMFUSX
(# FDNLFUSZ

(C) HDMNFUTZ

(D) HDNMFUTY

1.

2.

A man proceeding to the North turns

to the right. After some time, he takes

a turn to the left and again to the left.

Then he goes o0 his right and after

some distance again turns towards

his right. The direction in which he is

now moving is
(A) East
(B) West
(C) South

(D) North

If in a certain code, CHILDREN
is written as BGHKESFO, how is

GEOMETRY written in that code ?
(A) FDNMFUSX
(B) FDNLFUSZ
(C) HDMNFUTZ

(D) HDNMFUTY

—

2-D
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% o S S | HEA R}, 7 9@ 9Ed, d
e U 1 11 §91 o1 3 3 | 3 EMd
are ¥ 3 grerl 3W § i T 8 ST,
&t o i FAEE ST A E 7

(A) 46

4. 2% 4+2%042%420%=79
(A) g120
(B) g0
(C) 26

(D) 232

5, A QM FIFFHLIMM R FI+
Ruiy, AR T Q R AT 7

(A) I - T4
(B) I - ufs=m
(C) gfeqor - qd
(D) &f&r - gfsem

3. Shamtells his daughter, 7 years ago,

| was seven times as old as you were
then. Also 3 years from now, | shall be
three times as old as you will be. What

is Sham'’s present age ?
(A) 46
(B) 50
(C) 42

(D) 55

230 4 230 4 230, 2% - 9
(A) 8'%

B) 8%

(C) 228

(D) 232

Towards which directions is Q from R
if Qis exactly to the east of M and M

is exactly to the South of R ?
(A) North — East
(B) North — West
(C) South - East

(D) South — West

2-D
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3w (7. 9. 6 3f 7)

T W H A w00t v w i e
3| ol e Tl ¥ Y s § A e,
< Toees, q e 3w efeer w # | Feet
Wt HSeT TR | A 3R stfreran oE Wi |
e 9 A 3 s e of e A
8 | gEl "9 W, IR T # &, Thaw § s
T 2 3 IE el T TSR | T T
et o % A1 T R | st Rl ot
1 TS T R | e s T e o weke el
B

6. VAT & frat e A e @A 8 7

Direction (Q. No. 6 and 7) :

In a building, there are thirteen flats on three
floors — |1, lll and IV. Five flats are unoccupied.
Three managers, two teachers, two lawyers
and one doctor occupy the remaining flats.
There are at least three flats on any floor
and not more than six flats on any floor. No
two persons of the same profession stay on
any floor. On the Il floor, out of four flats, one
occupant is the lawyer and he has only one
neighbor. One lawyer live one floor below the
other. The doctor is not the neighbor of any
of the lawyers. No flat is unoccupied on the
I floor.

6. How many flats are occupied on the
IV floor ?

(A) Two
(B) Three
(C) Four
(D) Data inadequate

How many flats are there on the

1l floor ?
(A) Three
(B) Four
(C) Five

(D) None of the above

[51]
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8.

10.

7z s WTST 1 UH &9 2 I
i yfsen # gatfues Tecaqol T8 8

(A)
(B) TSR Fretr
(C) =gqa

(D) (A) 3R (B) qHi

78 farniat &t = wam § 41 Hw 9wl
da e 22 Ty A § | B AW
S o a1 ferenfiat § @ 9 31 UesEH
a8 | fore foremeff g @i o @ foreft oft
UrgushA § ATHIfhd A& 8 ?

A5 BTAT 6 TF e ° AT +1 3% MY
g | R AgR & framr @ 7

(A) 33
®) 34
(C) 35
(D) Trulfa & foman s @ehet

8.

10.

It is a form of body language and most
important aspect in the communication

process
(A) Speech
(B) Eye contact
(C) Selectivity
(D)

D) Both (A) and (B)

In a class of 78 students, 41 are taking
French, 22 are taking German. Of the
students taking French or German,
9 are taking both courses. How many
students are not enrolled in either
course ?

(A) 6
(B) 15
(C) 24
(D) 18

In a class of 45 students, Aditya’s rank
is twelve from top. What is his rank
from bottom ?

(A) 33
(B) 34
(C) 35

(D) Cannot be determined

2-D
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11.

12.

A 37} aref wemai w faaw
Hifsw .

574 658 821 945 247

I S T 2 TR ek i @ 1 v e
ST, A 39 YR aft e gt 3 8
faywrsg &t o

(A) I3 &
(B) T
C)
(D)

21 = § wHw: 850 off. 3 680 <.
TSI 2 | Teh oL hi HlUehad &HaT T
2 S 2T S F Yo I TS wE |
19 ehdl & 7
(A) 170 .
(B) 180 .

(C) 200 .

(D) 195 .

11.

12.

Consider the following three digit

numbers :
574 658 821 945 247

If 1 is subtracted from the first digit of
each number, then how many numbers

thus formed will be divisible by three ?
(A) None

(B) One

(C) Two

(D) Three

Two tankers contain 850 L and 680 L
of petrol respectively. What is the
maximum capacity of a container
which can measure the petrol of either

tanker, in exact number of times ?
(A) 170 L
(B) 180L
(C) 200L

(D) 195L

[7]



13. afe 500 s freh S =1 8 fei # wATA
F gFA &, @ 5 feat # 3 R =l gur

3 F foru Read sfies @ ?
(A) 800

(B) 575

(C) 925

(D) ¥ & HIE TE

14. fFy=fafgd sgEgar gof ST |
quﬁf:%“ﬂ:: 7 TT
(A) TEh
(B) U=t
(C) T==dTA
(D) I=aY

fAdw (9. 9. 15 — 17) : F=afafad Smr =1

e HeAgH w3 A9 feu T vt &

I |

T §eT § fIqUE ey 1 999 A Sl Id

frefafaa € |

Iufiear i fariar 39 TR 2

|. %0 ® %9 55% 31! & Gy ford) oft fawg
T Edes gHT 91780 |

||, S &R R | HH 8 HH 40% 37 T
fu =t |

I, e Qgar & w1g et een & fquum
T 0 @ HH 5 T H B AW
=l

13. 500 workers can finish a work in
8 days. How many workers will finish
the same work in 5 days ?

None of these

14. Complete the following analogy.
President : Country :: ? : State
(A) Chief Minister
(B) State Minister
(C) Governor

(D) Speaker

Direction (Q. No. 15 - 17) : Study the following
information carefully and answer the questions
given below.

Following are the conditions for selecting
marketing manager in an organisation.

The candidate must :

|. Be a graduate in any discipline with
at least 55% marks.

Il. Have secured at least 40% marks in
the selection interview.

. Have post qualification work experience
of at least five years in the marketing
division of an organisation.

2-D
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V.

V.

I TG H W Y FH 459 37 T

R & |

faoor weivm & % @ 7 60% 3it 3 T
A Tt/ fecetimn &1 |

afe 1% IieaR @it wrdt o e &, e
gg#’-%v

i, I90e |1/, afe === odien o =0 9 %5 60%
% Ied fhu &1, @t "mgen St -fagom =
AT STHT 2 |

i, Sgea Il ®, 3fe At amea & s 3
e YoYU % ®9 § 9 9 KF 9 T9
w1 1 S B, d T Sted - feuoe

15.

T WS IET B

T Y A § 56% 3 W R E
62% il % Ty v ¥ FrEeaT
ferft ot S ¥ g = Tt A 9§ | &
Feerm ¥ Rqoe ST A R R R | IR
= ghE T 62% 3Heh A T FIETh
# 38% 37 W foRdl 2 |

(A) Iufiear &1 = foan ST 2

(B) Irfean w1 <A TE R A R
(C) e Sfied frduE i S ST 2

(D) e Seft ferqoe WSS S R

IV.

Have secured at least 45% marks in
the selection examination.

Have a post graduate degree/diploma
in marketing management with at least
60% marks.

In the case of candidate who satisfies all
the conditions except,

15.

Il above, but have secured at
least 60% marks in the selection
examination, the case is to be
referred to VP — Marketing.

IIl above, but has post qualification
work experience of at least 3 years as
Deputy Marketing Manager, the case
is to be referred to GM — Marketing.

Rakesh has secured 56% marks in
B.B.A. He has been working in the
Marketing division of an organisation for
the past seven years after completing
his Post Graduate degree in marketing
with 62% marks. He has secured 62%
marks in the selection examination and
38% marks in the selection interview.

(A)
(B)
(C)

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to be referred to
VP — Marketing

(D)

[9]



16.

17.

a9t 3 off.u. & 59% 37 U oA € | 3|
T TIEATERR § 42% 37eh 3R =3 qhiet
¥ 48% 31 W fhU & | 98 75% 37
& A1y fqoum yEvE #§ ST 90
% ¢ TUse 7 aui ¥ U GEAT o faquE
3T T T E

(A) Ieiear 1 == fpan ST 8

(B) 3Iufican s == & femam 9T B
(C) umen Sfum faqum &1 9IS 9T 2

(D) we didt foqum =61 9SS @

e 3 === TeTehR § 60% 37k 31 ===
T 4 40% 3ok W fRdl | 65% 3Tehi
a1y fquvm yEve § AR S faf o
FH & 91 I8 USA 313 991 ¥ Tk e
% fquom aum d s W @ E | s
oft.wgdl. § 59% 3 wfea fhe & |

(A) Iafigar &1 =34 fohan T 8

(B) 3ufigar w1 = & foham ST B
(C) wHa Sfew foquE 1 s ST 3

(D) wTHeT i fooue =1 WS S R

16.

17.

Varsha has secured 59% marks in
B.A. She has secured 42% marks in
the selection interview and 48% marks
in the selection examination. She has
been working in the Marketing division
of an organization for the past 7 years
after completing her PG in Marketing
Management with 75% marks.

(A)
(B)
(C)

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to be referred to
VP — Marketing

(D)

Nidhi secured 60% marks in the
selection interview and 40% marks
in the selection examination. She
has been working in the Marketing
Division of an organisation for the
past eight year after completing her
Post Graduate degree in Marketing
Management with 65% marks. She
has secured 59% marks in B.Sc.

(A)
(B)
(C)

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

(D) Case is to be referred to

VP — Marketing

[10]




18. 2,000 1 Uy wfy = 794, wremor sar

19.

20.

R a9 F wreh R )y 9 ¥ i b
SATS Y AT R | 20 F 9 3 31 | =
T B ?

(A) ¥ 2,800

(B) T 3,000

(C) ¥ 2,950

(D) 2,750

fr=fefiga § @ - o A @ wefia

TR

(A) & Hrad % e g7d € |

(B) B Hay s9H 3 E W & foe
g4 2 |

(C) &9 faarel 1 gHE S & Y
gAd @ |

(D) gt aeft BaT & ST 379 FffshAr T
< |

10 @ 190 (ST et &) % &= 10
asfy oEe 1 3ftEa fehar R 7

18.

19.

20.

A sum of T 2,000 is invested at 7%
simple interest per year. Calculate
the interest at the end of each year.
What will be the interest at the end of
20" year ?

(A) % 2,800
(B) % 3,000
(C) % 2,950
(D) ¥ 2,750

Which of the following statement is not
true about listening ?

(A)
(B)

We listen to learn.

We listen to build and maintain

relationships.
We listen to resolve conflicts.

(C)
(D)

Listening happens only when you
don’t respond.

What is the average of all the
multiples of ten from 10 to 190
(Both are inclusive) ?

(A) 90
(B) 95
(C) 110
(D) 100

[11]
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21,

22,

23.

T R -itfges avw % fou s o
9IST T 37ETTT 2
(A) st gu§or

(B) wrewfyeg

e % foha o Higa s man
. W& ¥ gyan B g o |

1. <ieqe <t 3roeft = % frest o, yrm
I HIET 3T WTE A e |

(A) Taar

2-D

21,

22.

23.

It is the study of body language used
for non-verbal communication

(A) Haptics
(B) Proxemics
(C) Kinesics

(D) None of the above

Choose a similar word.

Sitar : Guitar : Tanpura
(A) Trumpet

(B) Violin

(C) Harmonium

(D) Mridanga

On which day of week did Mohan visit
Bangalore ?

l. - Mohan took leave on Wednesday.

Il. Mohan visited his brother on

Friday, the previous day of his visit
to Bangalore.

Sunday

Thursday
Saturday
Tuesday

[12]
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24.

25.

e I How Iugad fasey
GIECH

T T T v gl 35 o fom
RIEIIRS |

. TS i e | g 2 F 9w T
TECll BETE § giea womn an |

Il. TEA & ¥ & A& T a1 & Fr a8

319 3 g AR 1 7§ TEdt T
o |

(A) aet | 1 Fae || H T o 2
g 8

(B) ¥ | 3R Il e | fear w2
AT B

(C) <haet A | T feam man 2er vl 2
() ot % || 8 fean men S vt @

afe NECESSARY ¢ & Tgat 37 e

FE B, A I TS FE H, TS 3N
A 31 1 U A g T I, A AL |
Trqat ar fefiad § & SH-|1 & ?

24,

25.

Read both the statements and choose
the most appropriate option.

In which month of the year did Rahul
go abroad for a vacation ?

I. Rahul correctly remembers that
he went for a vacation in the first
half of the year.

II. Rahul's son correctly remembers
that he went after 31%' March but
before 1 May.

The data either in | alone or |l
alone are sufficient

The data in both statements | and
Il are necessary

The data in Statement | alone is
sufficient

(D)

The data in Statement Il alone is
sufficient

If the first and third letters in the word
NECESSARY were interchanged, also
the fourth and the sixth letters and the
seventh and the ninth letters, which
of the following would be the seventh
letter from the left ?

(A) Y

(B) A
(C) R
(D) E

2-D
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26.

27.

T8 U safdd P TH S ], HIY T
3 U TEd § FEEA A @ 3 fend
% THA B 1 HITET TSIl B

(A) St e

(B) TehWIeHah A
(C) HHf® T&Teed

(D) (A) 3R (C) i

T SRl ht A T A 9 : 7 8 3N
3% 49 H1 UM 4: 38 | Afe 9 I

Hfd |18 T 2,000 =1 o 8, 1 ITeh! AT

3™ F1a i |

(A) % 18,000 37 T 14,000

(B) % 20,000 3 T 20,000

(C) % 22,000 3 T 20,000

(D) ¥ 16,000 37 T 12,000

26.

27.

It makes a person happier, helps

build and maintain relationships and

increases one’s chances of success
(A) Physical health

(B) Positive attitude

(C) Mental health

(D) Both (A) and (C)

The ratio of incomes of two persons is
9 : 7 and the ratio of their expenditure
is 4 : 3. If each of them manages to
save X 2,000 per month, then find their

monthly incomes.

(A) ¥ 18,000 and % 14,000
(B) ¥ 20,000 and ¥ 20,000
(C) 22,000 and ¥ 20,000

(D) % 16,000 and % 12,000

2-D

[14]



28. HIYUT firy e
! 28. Choose the odd one out.
(A) TSR
(A) Carrot
B) 319
®) (B) Potato
€) TR (C) Beetroot
(D) @m (D) Cucumber
29. A BH s wwam 2, C, A ¥ s 29. A is richer than B, C is richer than A,
gaE 8, D, CH 3fus gaam 7 3N D is richer than C and E is richest of
E ged 3fyeh gam 2 | 3R 3= 3 all. If they are made to sit in above
¥ I ¥ T W AR o, e o degree of richness, who will be in the
2 a7 middle ?
A) A (A) A
B) B (B) B
() C (C) C
(D) D (D) D
2-D [15]



o

53w (w. 9. 30 3ik 31) : @), W 3R B
i 3R st srfeEEh % == & | G, a9 AR
et ot 3 sfiwet T o 9= & | A 3
i wrdis & 3 3T 91 e & W 3N
| | Tifaer 3 Tge o ot ofimdt sl %
T § | ifereer it wrch farder & &8 @ 3 IT*
YA, Tter 3R ik 9 &% fH §=3 § |

30. T H1 Wi & Fa1 oy ] 7

31.

32.

(A) =T T8
oy =TET
(C) wig

(D) it

Tgel 1 et & 391 §ey @ ?
(A) =90 wid

(B) =m=n

(C) w3

Q) sx-g-a

U 3TeHt @mar 8 Wi, gd Y aiw ik
6 1. I H 3R T B | Ay 3
sifom fog % g 6 g w1 avft 7

(A) 9.

(B) 48,

(C) 2.

(D) 10 .

Direction (Q. No. 30 and 31) : Sweety,
Ramesh and Shivender are children of
Mr. and Mrs. Agnihothri. Rima, Raju and
Sunil are children of Mr. and Mrs. Karkera.
Sunil and Sweety are married and have
two children Amar and Sonu. Geethika and
Rahul are children of Mr. and Mrs. Amin.
Geethika is married to Shivender and has
three children named Prathul, Pratheeksha
and Prathik.

30. How is Ramesh related to Pratheek ?
(A) Cousin
(B) Uncle
(C) Brother
(D) Nephew

31. How is Rahul related to Shivender ?
(A) Cousin

(B) Uncle

(C) Brother

(D) Brother-in-law

32. A man steadily goes 8 m due east and

6 m due north. What is the distance
between initial and final point ?

(A)
B)
)
)

(o]

m

L

8m
(C
(D

(\V)

m

—

Om

2-D
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33.

34.

UL

(A) BT
(B) IrremaTdh
(C) wfedmmn

(D) wAfaegsya

T §AT5 3TE U TS ga1s Ag fHsheran &
3T 1000 et /5 <ht ifa @ I 1 AR

Igd1 8 | I qHY Th 7 §ERE TE I
4TS 378 & Feherar @ 3R 1200 forrt /=
aﬁwﬁrav&awﬁaﬂtm%n%d—é
% WG G gs JEW TH-g@ H foell
AU

(A) 300 V15 famt

(B) 300 /33 ferft

(C) 300 61 forrft

(D) 300 /57 Tt

33.

34.

It indicates traits such as outgoing,
talkative, assertive and energetic
behaviour

(A) Adaptability

(B) Optimistic

(C) Extraversion

(D) Neuroticism

An aeroplane leaves an airport and flies
due north at a speed of 1000 km/hr.
At the same time, another aeroplane
leaves the same airport and flies due
west at a speed of 1200 km/hr. How far

apart will be the two aeroplanes after
1
—hr?

1 5 hr 7

(A) 300 V15 km

(B) 300 /33 km

(C) 300 V61 km

(D) 300 /57 km

[17]



-J *I
5
y

35.

36.

37.

UF g Afersh 9 G IR §ed d TH
fovaeia gew WA HI &HA

(A) T e
(B) @dwor

(C) g
(D) WSt

afe foreft ad # 25 3pRd 1 TRER B, A
39 HEI § Aman i g@ fha anft 2

(A) 3
(B) 4
C) 5

(D) 6

T TS % 10 1 IIa 2:3:4 2,
@ a8 981 B HH-TT & ?

(A) 80°
(B) 76°
(C) 84°

(D) 92°

35.

36.

37.

The ability to listen with an open

mind and in turn send a convincing

message
(A) Social skill
(B) Communication
(C) Adaptability

(D) Counselling

If 25™ of August in a year is
Thursday, then number of Mondays

in that month is
(A) 3
(B) 4
(C) 5

(D) 6

The angles of a triangle are in the ratio

2:3: 4. Which is the biggest angle ?
(A) 80°
(B) 76°
(C) 84°

(D) 92°

27 D
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38. Choose the odd pair of words.

A :

(A) = : Sifm (A) China : Beijing
(B) ®& : nient (B) Russia : Moscow
(C) =0 : mifzg (C) Spain : Madrid
(D) regfomn : faeh (D) Australia : Sydney

o (9. 9. 39 - 41): Direction (Q. No. 39 — 41) :

8 P,Q R S T,V, Wl Yus amiwr & | 8friends P, Q, R, S, T, V, Wand Y are sitting
% IR 3R 39 TSR 93 & f% 37 @ I @i % | around a square table in such a way that
IR HHI W 93 & Idih 9O/ Y13l & " | four of them sit at four corners of the square,
2 2 | 9/ A W 93 FfeFa g Hl IR 7@ whereas four sit in the middle of the four
& 93 & JeF gmaﬁ ¥ oo 1 43 =afad 9= sides. Those who sit at the four corners face
£ 37 1@ & B | P, mw q@ 3z H the centre while those who sit in the middle
3, vV E et ToE R a1 2 | T, of the sides face outside. P who faces the
. centre sits third to the right of V. T, who faces
7@ g AR, V H1 Frereaw wgE T 2 |
ViR WH S S s AR 812 15, Q %
2rft 37T gER T W ST § | QF qE by 3

the centre is not an immediate neighbor of V.
Only one person sits between Vand W. Ssits
second to the right of Q. Q faces the centre.

2 | R, P e TETE TR 2 | Ris not an immediate neighbor of P.
39. Q% aT¢ ¥ gEL TAH WHH 8 7 39. Who is second to the left of Q?
(A) P (A) P
(B) V (B) V
C) T c T
(D) Y (D) Y

2-D [19]
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Which of the following is true

40. R ¥ Hey § frefafEd @ 8 HH-4T 40.
TR 7 regarding R ?
(A) R =1 7@ g I AT (A) R faces the centre
(B) R, V &1 Repead TS @ (B) Ris an immediate neighbor of V
(C) R, T3k S& di = d d4a1 2 (C) R sits exactly between Tand S
(D) Q R % =1d & el T W a1 B (D) Q sits third to left of R
41, Vsl TH WA FIE 7 41. What is the position of T with respect
. toV?
(A) =T 3R gEw
(A) 2"%to the left
(B) wTff 37 =em
(B) 4™ to the left
(C) =t IR e (C) 3" to the left
(D) eifeht 3 e (D) 3" to the right
42. oA 4 8, 3, -2, ... % A 42. What is the sum of first 22 terms of
22 Ui T AT FAT 8 7 AP.8,3 -2 ..7
(A) 979 (A) 979
(B) —979 (B) — 979
(G) 799 (C) 799
(D) —997 (D) - 997
2-D [20]
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o O T B H qom w209, @ & drn

45. g9y fig gfw |
(A) 7324
(B) 9611
(C) 2690

(D) 1754

43.

44.

45.

An article is sold at 20% gain on the
cost price. What is the ratio of selling

price and cost price ?
(A) 6:5
(B) 5:4
(C) 7:3

(D) 2:5

This involves the ability to negotiate

and resolve disagreements
(A) Leadership

(B) Creative thinking

(C) Conflict management

(D) Ceritical thinking

Choose the odd one out.
(A) 7324
(B) 9611
(C) 2690

(D) 1754

2-D
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46. wuE Ewo e § fafafaa O | w®@n

47.

e & 7

(A) fafga guwm
(B) ®fshT @
(C) forame wmma
(D) I i

FUA : UG & NI 37did F1 g9d
F=o1 Y1 fReH § Igafe® At
! ATHFAT B |

freerd

. e g ww i e
T2 |

ll. 9ra o uerdfeen eard s1fe
AFHE R |

Fad frsd || IrgERor e 2
Had 5hE | FATE HLaT B
I AT 1A || HATET HT B

A E N ST R

46.

47.

Effective communication skills include

which of the following ?

(A) Written communication
(B) Active listening

(C) Conflict resolution

(D) All of the above

Statement : The best evidence of
India’s glorious past is the growing
popularity of Ayurvedic medicines in

the west.

Conclusions :

|. Ayurvedic medicines are not

popular in India.

ll. Allopathic medicines are more

popular in India.
Only conclusion Il follows

Only conclusion | follows

Either | or || follows

Neither | nor || follows

[22]




49.

Tofig ¥ gag okl SO AEn oA
FrgEr SR
o8 1 gl H Iy T T 7w &, W

Ul % T e @ 3 R 200 ferrt

&1 gft F Y @@ wum | gE B T gl

fopat 2 2

(A) 1800 ferdt
(B) 2400 ferft
(C) 1600 ferdt

(D) 2250 ferd

48.

49.

Which of the following is not a social

skill ?

(A) Building bond
(B) Collaboration
(C) Communication

(D) Creative thinking

Rajeev planned his journey to Mumbai

as follows :

th
He will travel % of the total distance

‘ th
by an aeroplane, % of the remaining

by train and the remaining distance
of 200 km by a car. What is the total

distance of Mumbai ?
(A) 1800 km
(B) 2400 km
(C) 1600 km

(D) 2250 km

[23]
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S ¥t waT T @1 & I8 G, wwgE, it

50. The bestkind of listening which happens

> 3R 3 g Hoh A TETTH Tl when you hear, understand, respond
- ?Em____ FEd 8 | and remember what is being said is
H1 G|
(A) s syaor (A) Passive listening
(B) disha el (B) Active listening
(C) FITFHR AU (C) Selective listening
(D) 3ugw &t (D) All of the above
51. e “NUTAN” ¥Isg o &R 1 o1 & 51. If the letters of the word “NUTAN” are
| FuigehA H safedra fohan S, @t fepad arranged alphabetically from left to
HE TF g H W@ 7 right, how many will remain in same
position ?
(A) +F 7 (A) None
(B) T (B) One
© = (©) Two
(D) (D) Three
52. ot safaa it ofifeufa & =9 =t wewm 52. It is the ability to share someone’s
F F g o A orened s feelings or experiences by imagining
1 T FT A & what it would be like to be in that
person’s situation
M) FEHH (A) Sympathy
(B) w3l (B) Empathy
(©) = (C) Attention
(B) #=m (D) Listening
2-D [24]



53.

54.

616 Fe=l 1 &1 1 vk gwe) F s 3

32 HeHt % Snedf ¥z % B o e 2

< TR T wen § wiem § o
FT R | Fiew H 7fran TEm e

Bt e 9 ue e ww #

(A) 16

(C) 24

(D) 8

g HATETIh Tk S G o WY B! TE
ST A ) feram ufshan o T hRIcH
YATE 1 9IOTH B

od

(A) HIT LT
(B) gedl
(C) & T=ud

(D) APt

53.

54. -

An army contingent of 616 members
are to march behind an army band
of 32 members in a parade. The two
groups are to march in the same
number of columns. What is the

maximum number of columns in which

they can march ?

The essential component that is the
result of a positive flow in our thought
process to communicate well with

others is

(A) Demanding

(B) Assertiveness
(C) Micromanagement

(D) Attitude




iz

55.

56.

afy FE aeq ora Gie vfa Fwe Hi fq |
ot 2, @ 98 wh ue # fohar die 1 gl
T Haf ?

(A) 300 6
(B) 3000 6
(C) 7200 %

w) 18000 $ie

2 € 1S gy ° el B8R A 25 3% *
TRl 3R 7 af 37 HHA-|1 8 7

7! 2’ 6, 3! 7’ 5, 6’ 4’ 2! 9-\’ 6.J 1‘l§_! 4’ 17

6,3,9,1,56,9.2,3,1,6,54,3,2,

1!9’6’7’1’6’3

(C) 6

(D) ¥ ¥ I3 T&l

55.

56.

If an object travels at the speed of five
feet per second, how many feet does

it travel in one hour ?
(A) 300 feet
(B) 3000 feet
(C) 7200 feet

(D) 18000 feet

In the below arrangement, which is the
7" digit to the right of 25™ digit from
right end ?

7,2,6,3,7,5,6,4,2,9,6,1,3,4,1,
6,3,9156,92,3,1,6,5, 4, 3, 2,

1,9,6,7,1,6,3
(A) 5
(B) 1

(C) 6

(D) None of these

[26]
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fdw (3. = i

o (3. |. 57 3ﬁ'{ 58) : = fe m @w | Direction (Q. No. 57 and 58) : The bar graph
B TR 21 991 2000 3t 2001 3 2 u# | diven below shows the sales of books (in

THWH FOH ht B s § T F skl thousand) from six branches of a publishing

(B o) &1 qifer 2 | company during two consecutive years 2000
and 2001.

! 120

g 110 - 105 110

@ 100 - 95

© 90 -

g 30 70

< 70 - ™65

(7)) s

o 60 4 |

S 509 | i |

& 30 1 | i ,

E 20 4 | oF g

g 0 L. T ¥ T T 1

B1 B2 B3 B4 B5 B6
& / Branches — 82000
02001

57. <l 9§t % fore wmar B6 i ot fashi gt 57. Total sales of branch B6 for both the
Tyt o foIT T B3 &t et farshi 1 fera years is what percent of the total sales
gfderd 8 7 of branches B3 for both the years ?
(A) 71.11% (A) 71.11%

(B) 68.54% (B) 68.54%
(C) 73.17% (C) 73.17%
(D) 75.55% (D) 75.55%

58. < 9§ & foTu smEr B2 i gt fershl T 58. What is the ratio of the total sales of
21 aNt % o smar B4 i Fo fashl g branch B2 for both years to the total
I HAE 7 sales of branch B4 for both years ?
Ry ' (A) 3:5
EB; 55 (B) 2:3

: (C) 4:5
(C) 4:5 _
(D) 7:9 (D) 7:9

~ ™ 271



59. frmfefga aifersrt o1 3TETTA L 3R
3T YR T Y91 & I G |

59. Study the following table and answer

the questions based on it.

f2u o st & fre St e afa ad = ()

Expenditures of a company (in lakh) per annum over the given years

=4 & [
Item of Expenditure
a9 A | FeA AR UREE N F/OT W =T E 3
Year | Salary Fuel and Bonus Interest on loans | Taxes
Transport

1998 288 o8 3.00 234 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

39 EY & A FoA H gfd 9 ==
61 3MFa Tl fopat gt w2

What is the average amount of interest

per year which the company had to pay
during this period ?

(A) T33.72@ (A) ¥33.72 lakhs
(B) ¥32.43 @@ (B) ¥ 32.43 lakhs
(C) T34.18 1 (C) X 34.18 lakhs
(P) % 36.66 1@ (D) X 36.66 lakhs

—————

2-D [28]



E?E -
60.

61.

62.

Fetfafes srpeqa
BAY T <hifsr | 60. Complete the following analogy.
(Z: CDXW :: FEUV : 2 BAYZ : CDXW : : FEUV : ?
- B) GHTS (B) GHTS
(C) EFYU (C) EFYU
(D) BAYZ (D) BAYZ
YU ST i ) Fferfad o § fead 61. Lack of communication skills can result
RO & "t B 2 in which of the following ?
(A) 3™ (A) Confusion
(B) faarm (B) Frustration
(C) @ gL AT (C) Missed opportunities
‘D] IvgEd ot (D) All of the above
W g % TUH W R/ 3T 1R ? 62. What should come in the place of
question mark ?
ARESONCRAE ANZBOYCPXD?W
% Q (A) Q
B) R B) R
) S (C) S
(D) T
(D) T
[29]

2-D



64.

65.

?Sooﬁeaﬁﬂ%q&maﬁﬁﬁaﬁﬁﬁ
¥ fou gurer S |ehAT & 7

(D) 55

frfefiga § & SH-91 TH qg B B

IR TR & 7

(A) TTeh!, TEHEl % T HIWT H
! &

(B) T EW H G

(C) wmferen wfifean faave

(D) Ueh 3SY hl HEIEAAT

T ZH 1 FAR 30 hl THSAH hl
AT B
(A) 9419

(B) sAfwErd

2-D

63.

[30]

64.

65.

1fZ 120 maintain a family of 4 per Song

tor 30 days, how long X 300 maintgj,
persons ?

a family of 6
(A) 25
(B) 40
(C) 50
(D) 55

Which of the following is not an

example of soft skills @

(A) Ability to communicate with clients,

co-workers
(B) Leading a team
(C) Social media marketing

(D) Negotiating a contract

This is the ability to persuade others

to our point of view
(A) Influence

(B) Aptitude

(C) Inspiration

(D) None of these




v
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66.

67.

m%Iﬁa?ﬁmiﬁraﬁtmiﬁqag
S SR 3 gg T et 20 e v |
5t 72 s arft 3 g 3t 25 e
| SR TR St gnft s et 3in
15%%I3‘6Wﬂ;ﬁgﬁwiﬁ
T 3R forg fem § 2 -

(A) 60 Hiex qd
(B) 35t gd
(C) 40 g@

(D) 35 Hex 3|

ﬁmﬁf@aﬁ@aﬁ:{—mﬁm%ﬁa@%?

N

B

©) —

66.

67.

Rajesh walked 25 m towards South,
then he turned to his left and walked
20 m. He then turned to his left and
walked 25 m. He again turned to
his right and walked 15 m. At what
distance is he from the starting point

and in which direction ?
(A) 60 m East
(B) 35 m East
(C) 40 m East

(D) 35 m North

Which of the following fraction is

greater than % ?

2
(A) 5

2-D

[31]



"-';u."!t
=t

_ 11 ¥ wafia wsdl =y
68. T - | weg % d yEn fm g Ewen | 70- g - 18 5 e

Tt - 118 3 IgEmn e e # ) e - | o & e g - 1 H A T Y
1 frem g - 11 @ i T A e st @ fm e E L FE - L ey
T He | HE IW AT @ﬁ—llﬁmm:ﬂ%ﬁmmfiﬂ
g - | g - 1l e e T
(a) ¥g | () T
(b) A i) oo - | -
(c) Fmeg | (i) e (@) W Rt | (0 #fex & qun W
@ T
e
(@ (b)) (c) (b) TS i) HE W UG R |
AL (c) Feams® i) ST H g
B) () (iii) (i) PR
) (i) (i) (iif)
(D) (i) (i) (i) w2
(@ (b
69. ‘HaFdl Visg I HEl e B @ ) @
(A) Tt SR 3= B | oV (1) B (/ B (1)
(B) free 3= 3res1 7 7 | ® @ 0 i)
(L) 3BT dieH arel | (C) (i) (il (i
(D) Heeh! HHH <& FTl | D) (i) - "




7.

72.

73.

frefefan aw awdt § Froararas adam
H Fafia 3w+ gfiu |

(A) &R St g mehe fewrs 2 w2,
FEOTR |

(B) $® W &I 42 ¥ |
(C) < @R | R |

(D) TS A T @R 7

TEre s W o1 wee R, faefafaa
wiegl § |8 a1ef Wl g fafae |

(A) 3T

(B) wafarfer

(C) widere

(D) dAITHSD

‘w’m%ﬁmﬁwml

(A) FH
(B) faean
(C)

(D) @

74. gt - |1 qeyaTEE HEAW % dF We feu

75.

o & aur g=h - || 3 A9 Sl I
few o 8 | g=h - |11 faem, = - 0w

Hhifsu aun = feu o e B T I O
et - | il
(a) 3| & [d o, 9@, A, TE,
A
(b) HeTw TE | (n) H, 7, BH A
(c) s eS| (iii) q, I, A,
' T A
F:
(@ (b (o
(A) (1) (i) (i)
8) (i) (W) ()
(C) (iii) (i) (ii)
D) (1) (i) (i)
frerferfiaa o & s 3R @ g8 T
! AT |

(A) Tifer 3i Sfied i HR S R |

(B) wifecr 3itt e 1 S Favl 7 |
(C) wfee i e ot Hfftd wsy 2 |
(D) wfeea 3 Sfia i =S Hae R |

2-D

[33]



76.

77.

78.

"3 BT ST e % HE 3 Pl FTH
ferfy |

(A) T=aTé 7 femms

(B) @R T STd &

(C) wlt-wdt gar

(D) TEFR FHET

fauTaTes o fd wed & 7

(A) f= amei @ foret 1 % T 8 @
iy g 8 |

(B) T arerai @ feret e o1 A e
B &1 91 BT 2 |

(C) T =gl # & & 81 | 9 #
g 7 |

) 5= sl g aen i AT, 3l
311 FEfidic S Y 7 |

ot ) 3 it - e 1w
BT R ?

() sl secd, SeETd

(B) WTATE!, HATSl, HaTdl, FEKA
(C) w1, @eteirett, BfamorEh
(D) ¥ & H15

79.

80.

2-D

‘ofyerr =T & AT SArhIfFd & JA
1 g farae |

A) mgmmmmﬁm

(©) S 3y St IEh A6 € I & |

EXGIN

fafdra s = i ST gHT |

(A) fra o= § 0 & I q° &
faug g 2 |

(B) T are § o+t Iuame gaE T F

il

(2) Fra a3 weh o ramey 3 36

A v v aryE Iga @ |

() a1 gy o ey e of sm A1 €
a1 8 |

-
[34]




81. ‘W ¥ Haeg
s B 83. ‘W& Wit o wewdl | ford S
(6} T8 9 W (A) figen i
(B) wHYEm & aut (B) e H
(C) i (C) T@ =
82. TETaU T % e % HEl S e wiew 84. ‘UIF ST UE DA W ¢ :
fau g (A), (B), (C), (D) 7 @ W& farsbea
(A) THT
Nl ﬁ-’-ﬁ :
(B) EFHI
(a) TG IARAT | () TEET EAT
(b) TR BT | (i) faua 7 g= (C) wem
(c) TH BT \ﬁﬁ) fa=ge fauan (D) "%
M
(d) WEET | (iv) TS T
85. ‘W % Had™ SUIATE! 0 &Y
(@ () (¢) (d)
(A) sga
(A) (i) (i) (iv) (i)
(B) s
| @ (i) (i) (iv)
. ) (C) =&
() (iv) (i) (i) (ii)
(D) (i) (ii) (i) (iv) (D) =
2-D [35]



% 8s. ‘W'mﬁw@ﬂmﬂ:

86. ‘Eid-Tig X % HT YEEU & WA ©

(A) TE-Ha™d AT (A) gl
(B) di@r gfga 3T (B) el
C) Wreit
(C) Y 3T ) @
(D) T & WEHT

(D) BheTl

87. W& Wit e fueh @ies W fow 7W (A),
(B), (C), (D) ® & Tel fashed &1 T

g89. T B G@l 1 Hied

(A) HE
(a) el (i) T
(B) ge@n
(b) TR (i) EeE
«€) gxar
(c) e (i) TqfTRa
(D) g@n
(d) FA (iv) G&i, Ukl g3
@ (B () (d) 90. 9 % R W 3 e Rat s 5 ©
A O G Gy (iv) TS T, M 3
@ (v) (i) ) (i) (A) @i
©) i) @G @) (iv) (B) Wi
© G (i) ) () (C) i
(D) w=h




91.

92.

R W e @R W few g (A), (B),
(C), (D) & & wet foehow o T+ -

(a) gt (i) e

(b) (i) 9t ¥ |

(c) fsrfd (i) 3T S I
LR

(d) #m (iv) el

(@ (b) (c) (d)
(A) () (i) (i) (iv)
B ( iv) (i) (ii) (iii)
© @ @@ v) )

(D) @iy @) @) (V)

Tl F Hag S A 7, AL

(A) TR

93.

94.

Hel gt frerk @ier ¥ T RT (A), (B),

(C), (D) fere 1 & Wt o T -

(@) -3t | (i) FEI-IE
(b) Si-adt | (i FE
(c) SEi-3/ | (iii) IW-3IW

(d) idel (iv) wTEi-T&l

(@ () (9 (@
W @iy vy @) (i)
B) () @iy (i) (v)
©) (@) (@@ (v ()

(D) (iv) (i) (i) (i)

2-D

[37]
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95. wefedl W ‘g’ @ HEA :

96.

97.

(A) BT
(B) =T
() w=h
(D) =T

ﬁw%m‘@?}
(A) U =

(P @%ﬁ%wméﬁaﬁq%qﬁ
3 s

ORERL
(D) u=rHt & A7

HIET 1 FoT WH H GTEE AT O AT
@T‘ﬁ'ﬂ"’l’t‘.ﬁqiﬁ%ﬁ:

99.

100.

(B) =™
(C) A&
(D) erm

TE 19 7

(A) & 8 IR W @ |

(B) ¥ & ¥ %M Fa) |
(C) 394 B 3199 wm e |
(D) # 7 #r wm w |



